// DEQueue program for CS 223A

// Homework 7

// 10-31-06

// Uses a ??????????? to implement a double-ended queue

package <YOUR PACKAGE HERE>
import structure.*;

public class DEQueue {


// protected data members

// public methods

public DEQueue()


public void clear()


public int size()


public boolean isEmpty()


public void addFirst (Object v)


public void addLast(Object v)


public Object removeFirst()


public Object removeLast()


public Object peekFirst()


public Object peekLast()


public void printQ()


public static void main(String[] args) {



DEQueue dq = new DEQueue();



dq.printQ();



System.out.println("dq.isEmpty() equals " + dq.isEmpty());



System.out.println("dq.size() equals " + dq.size());



dq.addFirst("a");



dq.addFirst("b");



dq.addFirst("c");



dq.printQ();



System.out.println("dq.isEmpty() equals " + dq.isEmpty());



System.out.println("dq.size() equals " + dq.size());



dq.clear();



dq.printQ();



System.out.println("dq.isEmpty() equals " + dq.isEmpty());



System.out.println("dq.size() equals " + dq.size());



dq.addLast("1");



dq.addLast("2");



dq.addLast("3");



dq.addFirst("a");



dq.addFirst("b");



dq.addFirst("c");



dq.printQ();



System.out.println("dq.isEmpty() equals " + dq.isEmpty());



System.out.println("dq.size() equals " + dq.size());



System.out.println("At the head is " + dq.peekFirst());



System.out.println("At the tail is " + dq.peekLast());



dq.removeFirst();



dq.removeLast();



dq.printQ();



System.out.println("dq.isEmpty() equals " + dq.isEmpty());



System.out.println("dq.size() equals " + dq.size());



dq.removeFirst();



dq.removeFirst();



dq.removeFirst();



dq.removeFirst();



dq.printQ();



System.out.println("dq.isEmpty() equals " + dq.isEmpty());



System.out.println("dq.size() equals " + dq.size());



dq.addFirst("cat");



dq.addFirst("dog");



dq.addFirst("horse");



dq.addFirst("monkey");



dq.printQ();



System.out.println("dq.isEmpty() equals " + dq.isEmpty());



System.out.println("dq.size() equals " + dq.size());



dq.addLast("Newton");



dq.addLast("Leibniz");



dq.addLast("Euler");



dq.printQ();



System.out.println("dq.isEmpty() equals " + dq.isEmpty());



System.out.println("dq.size() equals " + dq.size());


}

}

